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You will need two shuttles with colour 2.  You CAN wind them CTM but I am going to show 
another way of starting SR3 and hiding the end at the same time. 
For the first ring work in the end as on day 1 – see fig a.

Part 2

R1: 1 – 5 vsp 3 – 3 Cl
R2: 3 + (R1) 4 – 2 – 2 – 4 – 3 Cl

To start SR3 without a knot or leaving an end.

Work the first half of the SR as instructed.
Take Sh2 and hold the end under the core thread.  See fig. f

Work the first few ds OVER this end to cover and hold it.  Continue as below.

SR3: 3 + (R2) 3 / 1 – 5 Cl DNRW SS
Ch: vsp 2 vsp 8 RW
R4: 4 + (p on SR3) 2 + (p on R1) 4 Cl RW
Ch: picot 10 Lj (vsp R1) 4 – 6 RW

http://www.janeeborall.freeservers.com/TIAS2010tilly.pdf

